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. Base on the Routh criterion, a second order polynomial as’+b*+c is asymptotically

stable if and only __ A H (o@‘/ Sawm € S:\“)V\ _ a, Vv, C 96«/{, < t\j

. Base on the Routh criterion, a third :);der polynomial as’ :bs +cs+d is asymptoticallyo ", 35 i

stable ifand onlya) 4[| cotff sove s a b ¢ ol gansy. € 70
and b) b.c > a-d “

. Use the Routh criterion, determine if each of the following polynomial are

asymptotically stable:
s7st] A-S.
s2+2s not
s3+257+35+4 A.S . .
s3+25%+35+6 s +
S +25°+25+8 Net
§+25°+35+4 net

§3-252+35+4 not”




